Chain Rule and Twplicit Differentation
Chain Rule

The chain rule allows us Yo take a derivative down a tree of Lunclions:
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This replicates e process of plugging in Hhe pavameterizakions
Examples!

1 tet w: 3xcosimy). Tf  x=u'tv® | y= %, find the following partial derivatives
ot the given point. Use a dree diagram.
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2. Let ys=et* ™7 TE x=2t-5, %=, and xs=¢ +3s. Find the following partial
derivatives at the given points.
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3. Griven that 2e¥*™ 428 -x -y =0. Find 2 -5 ond 24= 9N

we assume 2 is a function of x and y thus we use implicit differentotion
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Exit Ticket Estimating Partial Derivatives

Estimating Partial Derivatives There are three formulas for estimating partial derivatives
with respect to z:
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e forward difference: ai [f(z,y)] ~
7

e backwards difference: g [f(z,y)] ~
x

e central difference: 9 [f (z,9)] ~

ox

Below is a chart that describes the ”Feels like” temperature (F(T,W)) given the wind speed (W)
and air temperature (T), give all estimates of g—g, at the given points:
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